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0238 E 20lat LESIH SEESASE A
SN SEZHAA
M ZES S JIZEHIAY
ol HES ZAX JI2EHIAY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
STEAAMGA 9,494,786 8,184,087 1,310,699
= 911,326
[ 4,214,000
= 387,7%4
Ea 3,981,666
IS8 SN JIZ2EHIAE 800,000 0 800,000
285 SaX JIZEHIAY 800,000 0 800,000
HES SHEZE XSS 800,000 0 800,000
308 XtXIEMSO0IE 800,000 0 800,000
12IIERg= 800,000 0 800,000
O ZEE i, StdZ XSIMY 252
800,000,000& 800,000
A sMHENL (SEZ0H) 6,103,858 3,150,460 2,953,398
= 900,000
= 2,680,000
< 270,000
s 2,253,858
J=dENE 3,132,108 2,120,460 1,011,648
= 2,470,000
= 662,108
FSH I ZMENE SEAY(Z2/2S) 1,041,108 1,234,600 193,492
= 849,000
[Ea 192,108
307 @120l & 140,360 185,000 A44,640
[ 98,252
s 42,108
05 git?(&= 140,360 185,000 N44,640
O Z8Y JI=dENHE gAg(AgLsEt
Arg) 140,360,000 140,360
= 98,252
s 42,108
401 AlEHIZ R0 900,748 1,049,600 148,852
= 750,748
Ea 150,000
01 AlZH| 900,748 1,047,600 A 146,852
O BEW JIZMENE ZHEAY
900,748,000 900,748
[ 750,748
o 150,000
SAH JIZMENE ZEMY(Z2/2E)(SEEL 860,000 311,430 548,570
s 670,000
= 190,000
307 elzto| & 300,000 0 300,000




TN SEEEAMEL
B ks AR (SEZ0F)
Chelr J=MENE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 210,000
s 90,000
05 Dizkelera 300,000 0 300,000
O M JIZMBNE ZHAY (A2
Ated) 300,000,000& 300,000
= 210,000
Ea 90,000
401 AlZHIZ SO 560,000 311,430 248,570
[ 460,000
o 100,000
01 Al&HI 560,000 306,430 253,570
O FuH JIZdENE Zgae
560,000,000 560,000
s 460,000
= 100,000
FAH I ZUENE ZEMNS(Z2/2S)(SEEL) 831,000 311,430 519,570
[ 671,000
o 160,000
307 @120l & 200,000 0 200,000
[ 140,000
o 60,000
05 2IR”IRIE = 200,000 0 200,000
O 7AY JZHENE ZgAL(AEL3E
Ated) 200,000,000 200,000
s 140,000
= 60,000
401 AIEHIX SO 631,000 311,430 319,570
= 531,000
o 100,000
01 AlZ2H| 631,000 306,430 324,570
O X JI=8ENE 2dAE
631,000,000 631,000
[ 531,000
[Ea 100,000
FEE J|ZMENE REAY(Z2/2S)(sEEY) 400,000 0 400,000
= 280,000
= 120,000
401 AlEHIZ 2 0HbI 400,000 0 400,000
= 280,000
[Ea 120,000
01 A28l 395,000 0 395,000
O ¥gd J|=dENE 2dAg
395,000,000 395,000
[ 276,500
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O ZEH JZYENE gAY (Zs2 2
Chel) 5,000,000 5,000
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O ZEZ OIS2S)| A (HE 28, 3¢
SE, Bb 33) 900,000,000 900,000
O ¥E= 0IS2S)] M(2028E Al 22)
300,000,000 300,000
ANzZAg2dHsAER) 300,000 130,000 170,000
= 210,000
= 90,000
YET ALSMNA(SAER)(Z2/2S)(SEEY) 300,000 130,000 170,000
= 210,000
Ea 90,000
307 gl2to| & 300,000 130,000 170,000
[ 210,000
s 90,000
05 eit?(& = 300,000 130,000 170,000
O HE2 NAALASAIY (s2ER)(Z2/2
SN (sEEA) 300,000,000 300,000
= 210,000
= 90,000
SES2UEEIAE 1,471,750 0 1,471,750
= 900,000
[ 270,000
T 301,750
SEZ2EHIAE (3HI) 1,471,750 0 1,471,750
= 900,000
== 270,000
o 301,750
401 AIEHIZ SR HYI 5,000 0 5,000
= 2,500
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o 1,750
3 A& S THYI 5,000 0 5,000
O sE3UFHIANG (ZS2 R0HI)
5,000,000& 5,000
= 2,500
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== 269,250
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02 SIS0t =S A A 1,466,750 0 1,466,750
O sESAEHIAI (I ArHl)
1,466,750,000& 1,466,750
= 897,500
< 269,250
T 300,000
LS MU ENL(HEZ0F) 1,067,000 1,856,000 A789,000
[ 747,000
s 320,000
AHAHZ LY 1,067,000 1,756,000 689,000
[ 747,000
Ea 320,000
ot HTEAA HENL(Z/2E) 1,067,000 1,756,000 689,000
s 747,000
= 320,000
403 AXIEHMSAH=0lH 1,067,000 1,756,000 689,000
= 747,000
[Ea 320,000
02 ST 2SO etA=2 A P E A I 1,067,000 1,756,000 689,000
O ottt M= HEIHL AL
1,067,000,000& 1,067,000
[ 747,000
s 320,000
s3I L3t 1,135,500 1,352,500 A217,000
= 787,000
< 87,000
= 261,500
SENSSENL A 51,500 51,500 0
LESMHUENLAIE A= RAI2C 51,500 51,500 0
202 04l 1,500 1,500 0
01 =LHA LI 1,500 1,500 0
O sEZE0tETeHLA G248 ol
1,500,000 1,500
401 Al HIZ S 0HbI 50,000 50,000
01 AlZ2H| 50,000 50,000
SENSSEMNEAME AE= FA22
(52 HA) 50,000,000 50,000
A= S A 1,084,000 1,301,000 A217,000




od
i’
oF
uJ

il R0 750
KJ 3D 87
H R

IF RO

=

< S8 S8 S 8 < e S S
S S S S S S
A0 5 B 5 5 3 3
Klo < <
E
E=)
8 < e S 8 8 S e <
S S S S S
LH 3T B B B 8
L]
KIS
S8 38883838188 kb K|S S 8B RIS T 2RSS S I RS S I o A8 S83I8YK XS 8
S S g8l S S g|adN By e S Al —|OgN T DS S M 6S S &S S g|lgNnalg S
EE S ESFIBT Y=L s YEggYdlg §g¥g - - Sgesggse g 8
mrﬁ
<
b=y
MW M W MW W MW W W W MW
o o o o
— g g g — g
ur S S LS ur S
o ® 28 =& = 5 t =g
5 M =B =g g M s
. 5 Y, G, Y, m O,
3D () =] = =] oH =]
= ’ iofll ol ol | ol
> w_ 20 20 20 w_ 20
= o+ ar &r 8r o0 8
o = [ [ [ = >3
— M r or or M or
= S S RF S
G} d o 5 o o d o
0 - = = = = - o
% i o o o+ o) = o N no Kr
. _%_ ] ar o0 ok 00 wT 00 % ] ar oH
7 5 o F =] D b2 3 o F
um 0 nJ N T s w 4 g @ g 0 nJ 00 5
x. ar ol EO < <5 <5 ar ol D_O
m I~ L — — (a8} ﬂ N~ Lo
¥ 5 S S 2 = 8 5 8 =
I+ S RF




TN SEEEMEA
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SRl NS SUEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 50,232
=S 5,520
s 13,248
401 AIEHIZ R 0HYI 431,000 500,000 69,000
= 313,768
= 34,480
o 82,752
01 A28l 430,000 499,000 269,000
O E&t 20t HAXNSE U2 HEA
& 430,000,000 430,000
= 313,040
= 34,400
o 82,560
03 Al 20HHI 1,000 1,000 0
O B4t 20t HAXNS HE0HA HEA
& 1,000,000 1,000
= 728
=S 80
s 192
OFSOt3R0| 243t 252,000 321,000 269,000
= 26,400
Ea 225,600
IE2 0SSl N3 252,000 321,000 69,000
=S 26,400
s 225,600
OlessHESI| 54 14,000 11,000 3,000
201 et 3| 11,000 8,000 3,000
01 AtR2tc|Hl 11,000 8,000 3,000
O DISZEHOS)| A2ET Ypts Y|
5,000,000 5,000
O Dt=SSH=)| RN Sl
3,000,000& 3,000
O XNgs2 =5 ¢ 3,000,000& 3,000
202 04| 3,000 3,000
01 =LHOHI 3,000 3,000
O OIS3SHUSI 2 =& ol
3,000,000 3,000
orE2sH 2SI S4(&Hl) 88,000 80,000 8,000
= 26,400
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307 elztol & 88,000 80,000 8,000
= 26,400
Ea 61,600
02 QIZHEAAEE X 88,000 80,000 8,000
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33 0FEoHR0) gdst
e &JIE2 DiE=E)] A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O OIS3SH 2SARAY(E)
88,000,000& 88,000
= 26,400
Ea 61,600
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307 @12t0| & 150,000 180,000 30,000
02 QB HANEER 150,000 180,000 230,000
O SZLXHEA el2d] K&
150,000,000 150,000
sEME0S |4 40,308 39,598 710
= 11,326
= 4,3%
= 24,588
sEME0E 84 40,308 39,598 710
= 11,326
[ 4,3%
T 24,588
sSHSENSE0E =4 7,500 7,500 0
301 EtE NS 7,500 7,500
04 gstsdstis 7,500 7,500
O s&E22 2 XMEors 2tk &=
7,500,000& 7,500
HdEfHEos 54 7,550 7,550
201 er2 3| 6,800 6,800
01 AtR2t2|HI 5,800 5,800
O dEHMElis RN Let+=SH]
3,000,000& 3,000
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03 A=Y 1,000 1,000 0
O MEME0S 2O &3 usH|
1,000,000& 1,000
202 04| 750 750
01 2LHA b 750 750
O dEiMEits g2=d 750,000 750
SEMEFA0IS ARE HEXA(=H]) 20,682 20,000 682
= 10,341
=S 3,217
s 7,124
307 21201 & 20,682 20,000 682
= 10,341
= 3,217
Ea 7,124
02 QIZHEAAEE X 20,682 20,000 682
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SN SEZSARA
M HHPALH|(sESAAML)
el D2 ZHl(sE2HARL) (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
I23t(sE&HAE L) 96,120 0 96,120
=g/ sE849E 67,880 0 67,880
201 er23| 55,400 0 55,400
01 At2teltl 32,800 0 32,800
O get=g| 24,000,000& 24,000
O 32 8,800,002 8,800
® 222 22,600 0 22,600
O ZT22 2 HAZU2
22,600,000 22,600
202 04l 8,000 8,000
01 2LHoIH 8,000 8,000
O =Uoidl 8,000,000& 8,000
203 HR=4AH] 3,480 3,480
02 3t RS &| 480 480
O FaIRHHRF=2AH| 480,000 480
04 PAE2EERFAH 3,000 0 3,000
O RBA=EYER=A|
250,000 x 104 2% 123 3,000
405 AHaHE = 1,000 1,000
01 AL =S F=HI 1,000 1,000
O A78 TSI 1,000,000& 1,000
l2dtl/sEd=E 14,240 0 14,240
201 fer23y| 9,240 9,240
01 AtR2t2lHI 9,240 9,240
O &gzl 4,240,000 4,240
(OR=11:] 5,000,000& 5,000
202 04| 5,000 5,000
01 =LHO LI 5,000 5,000
O =0 5,000,000& 5,000
Jl=2ZHl/3SHNEE 14,000 0 14,000
201 er2 3| 9,000 9,000
01 At2teltl 9,000 9,000
O JI23H/SSHXAE Let+=2Y]
5,000,000& 5,000
O Jl=ZHl/SSHMAEE S|
4,000,000 4,000
202 04l 5,000 5,000
01 SLHoIH 5,000 5,000
O J123Hl/SSHAAE =0
5,000,000& 5,000




